
SAP ABAP table ROIJ_EL_TICKET_DISP {OIL-TSW :  Ticket display structure}

ROIJ_EL_TICKET_DISP

MANDT [CLNT (3)]

TICKET_TYPE [CHAR (3)]

TPLST [CHAR (4)]

TSYST [CHAR (10)]

CARRIER [CHAR (10)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

LOCID [CHAR (10)]

VEHICLE [CHAR (10)]

MEINS [UNIT (3)]

MATNR [CHAR (18)]

MTTEH [UNIT (3)]

TSTEH [UNIT (3)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 ROIJ_EL_TICKET_DISP-MATNR = MARA-MATNR 

0..N

0..N

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 ROIJ_EL_TICKET_DISP-VEHICLE = OIGV-VEHICLE 

0..N

0..N

OIJLOC

MANDT [CLNT (3)]

LOCID [CHAR (10)]

 ROIJ_EL_TICKET_DISP-LOCID = OIJLOC-LOCID 
0..N

0..N

OIJNOMH

MANDT [CLNT (3)]

NOMTK [CHAR (20)]

 ROIJ_EL_TICKET_DISP-NOMTK = OIJNOMH-NOMTK 
0..N

0..N

OIJNOMI

MANDT [CLNT (3)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

 ROIJ_EL_TICKET_DISP-NOMIT = OIJNOMI-NOMIT 
0..N

0..N

OIJTS

MANDT [CLNT (3)]

TSYST [CHAR (10)]

 ROIJ_EL_TICKET_DISP-TSYST = OIJTS-TSYST 
0..N

0..N

T000

MANDT [CLNT (3)]

 ROIJ_EL_TICKET_DISP-MANDT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIJ_EL_TICKET_DISP-MEINS = T006-MSEHI 

0..N

0..N

 ROIJ_EL_TICKET_DISP-MTTEH = T006-MSEHI 

0..N

0..N

 ROIJ_EL_TICKET_DISP-TSTEH = T006-MSEHI 
0..N

0..N

TOIJ_TKT_TYPE

CLIENT [CLNT (3)]

TKT_TYPE [CHAR (3)]

 ROIJ_EL_TICKET_DISP-TICKET_TYPE = TOIJ_TKT_TYPE-TKT_TYPE 

0..N

0..N

TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 ROIJ_EL_TICKET_DISP-TPLST = TTDS-TPLST 

0..N

0..N


